
o

o

o



o

𝜏 = 𝑅𝐵𝐿 (𝑅𝐵𝐿 + 𝑅𝐸𝐿) 

𝝉

o

 𝝉



SL 

BL+EL 

versus 

𝑹𝑺𝑳

𝑹𝑬𝑳 

𝑹𝑩𝑳 

o

𝑅𝐺 = 𝑅𝐵𝐿 + 𝑅𝐸𝐿
Φ = 𝜏𝑚𝑖𝑛, 𝜏𝑚𝑎𝑥

o

𝜏 Φ

o

o

- 𝑇𝐴𝑣𝑔𝑃𝑖𝑐 =
𝑅𝑃𝑖𝑐𝐴𝑣𝑔× 𝑁𝐶𝑜𝑑𝑒𝑑+𝑆𝑊 −(𝑅𝐵𝐿+𝑅𝐸𝐿)

𝑆𝑊
𝑅𝑃𝑖𝑐𝐴𝑣𝑔 =

𝑅𝐺

𝑓

- 𝑇𝐺𝑂𝑃 = 𝑇𝐴𝑣𝑔𝑃𝑖𝑐 × 𝑁𝐺𝑂𝑃

o

- 𝜏𝑜𝑝𝑡 = max
𝜏∈Φ

𝐺(𝜏)

max 𝜏𝑙𝑎𝑠𝑡 × 0.8, 𝜏𝑚𝑖𝑛 ≤ 𝜏𝑜𝑝𝑡 ≤ min 𝜏𝑙𝑎𝑠𝑡 × 1.2, 𝜏𝑚𝑖𝑛

o

- 𝑇𝐵𝐿 = 𝜏𝑜𝑝𝑡 × 𝑇𝐺𝑂𝑃
- 𝑇𝐸𝐿 = (1 − 𝜏𝑜𝑝𝑡) × 𝑇𝐺𝑂𝑃

o 𝑮(𝝉)
- 𝐺 𝜏 = 𝑄𝐸𝐿 𝜏 ≜ 𝛼 × 𝜏 + 𝛽

𝜏𝑖 , 𝑞𝑖

-
∑𝜏𝑖

2 ∑𝜏𝑖
∑𝜏𝑖 𝑁

𝜶 
𝜷 

=
∑𝜏𝑖𝑞𝑖
∑𝑞𝑖

𝑮𝑹𝒆𝒇 𝑮𝑨𝑹𝑪 𝑮𝑿

o

o

- Φ = 𝜏0 − 25%, 𝜏0 + 25%  

- 𝜏0 =
1

2×√2

- 𝑅𝐺 ∈ 5, 10, 15, 20

o

 𝑮𝑨𝑹𝑪

𝜏0 𝑮𝑹𝒆𝒇

 𝑮𝑿

o




